
Monday – maths 
 



Answer 

Lots of  options.  

For example; 

9 x 8 = 72 

72 ÷ 9 = 8 

72 ÷ 8 = 9 
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b) Is there more than one way to find the answer? 
The window has 30 triangles and the door has 28 triangles. 



LO: To understand what area is 
Look at these two shapes.  Which one can you fit 
the most counters into? 

 

 

 

 

The shape with the most space inside and so the 
space with largest area is… 

the rectangle 

rectangle quadrilateral 



LO: To understand what area is 
Fluency 
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